Find the distance between the points (1, —3) and (=2, —9) . Write vour final answer using radicals.

SCORE: /6 PTS
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Divide, Rationatize the denominator and simplify, SCORE: /6 PTS
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Translate the following sentence into an absolute \;giue (;quation or inequality. SCORE: _ /6 PTS

“x is atleast 9 away from 57
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SCORE: {8 PTS
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The equation 5 — |l I- 4x| = 2 has two solutions. One solution is x = 2 . Find the other solution. SCORE:; /8 PTS
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SCORE: /8 PTS

Solve the equation 13 —44/1— & = 5 using algebra. Check your answer(s).
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Solve the equation # —+/16—3m = 6 using algebra. Check vour answer(s).
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SCORE: /12 PTS

Find the equation of the circle with center (25, —1) and radius 4 . SCORE: /6 PTS
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SCORE: /10 PTS

Write using fractional and/or negative exponents (where applicable).

SCORE: /8 PTS
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Simplify +/504 .
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Simplify v 56r°a'®y"" . Write your final answer uging radicals.
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SCORE: /6 PTS

SCORE: /8 PTS

Find the center and radius of the circle x* + y* —10x+18y +42 =0,
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Circle the two graphs below that represent functions. SCORE: /6 PTS
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Write vour final answers using radicals. SCORE: /14 PTS

Perform the indicated operations and simplify,
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Perform the indicated operations and simplify. Write your final answers using fractional exponents. SCORE: /10 PTS
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SCORE: ____ /12PTS

Rationalize the denominator and simplify.
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